Geometry Honors date /ﬁd/V/

Chapter: Congruent Triangles /
~~,_ Topic: Proofs in Coordinate Geometry

In coordinate geometry, supporting work cannot be a graph. You may use a graph to guide you in your work but it

cannot be supporting work for your answers.

What formulas are used in coordinate geometry?

L In the coordinate plane, the vertices of ARST are R(6,~1), 3{} 4) and T(~5.86).

Prove that ARST is a right triangle. &7
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2. Triangle ABC has vertices with A(x,3), B(—3,~1), and C(—1,-4).

Determine and state a value of x that would make triangle ABC a right triangle. Justify why
DABCisa mght triangle.
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3. Triangle CAT has vertices with C(-10, -2), A(-6, 2), and T(-2, -2). Determine whether this is a right triangle. If so,
what kind of a right triangle? Support your conclusion with geometric work.
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4. Determine whether ABIG = ACAR ? Include an explanation with your work.
B(-=7,7),1(—7,3),G(—2,3) and C(4,-1),A(8,—1),and R(8,4)
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